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1. (a) Vértices: A1 = (−5, 0), A2 = (5, 0), B1 = (0,−4), B2 = (0, 4), Focos: F1 = (−3, 0), F2 =
(3, 0).

(b) Vértices: A1 = (−6, 0), A2 = (6, 0), B1 = (0,−2), B2 = (0, 2), Focos: F1 = (−
√

32, 0), F2 =
(
√

32, 0).



(c) Vértices: A1 = (−2, 0), A2 = (2, 0), B1 = (0,−1), B2 = (0, 1), Focos: F1 = (−
√

3, 0), F2 =
(
√

3, 0).

2. (a) Vértices: A1 = (−3, 0), A2 = (3, 0), Focos: F1 = (−5, 0), F2 = (5, 0), Asśıntotas: y = −4
3
x e

y = 4
3
x.





(b) Vértices: A1 = (−2, 0), A2 = (2, 0), Focos: F1 = (−
√

40, 0), F2 = (
√

40, 0), Asśıntotas:
y = −3x e y = 3x.



(c) Vértices: A1 = (−2, 0), A2 = (2, 0), Focos: F1 = (−
√

5, 0), F2 = (
√

5, 0), Asśıntotas: y =
−1

2
x e y = 1

2
x.

3. (a) F = (0, 2), d : y = −2.



(b) F = (0,−3
2
), d : y = 3

2
.



(c) F = (0, 5
4
), d : y = −5

4

4. (a) x2 = −3
4
y. Parábola com p = − 3

16
.

(b)
x2

81
+

y2

36
= 1. Elipse com a = 9, b = 6 e c =

√
45.

(c) x2 − y2 = 1. Hipérbole com a = b = 1 e c =
√

2.

(d) x2 +
y2

5
= 1. Elipse com focos estão sobre o eixo y, com a = 5, b = 1 e c =

√
24.

(e) x2 = 1
4
y. Parábola com p = 1

16
.


